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PART A — (10 x 2 = 20. nar zs)
1.  Whyis an array preferred instead of nsii ¢'a aumber of variables?
2. Give the recurzive property of binaryzearch algorithm.
3.  Write the primitive operation g1 stack.
4,  How does one represent \he quone is empty?
5.  What is called almosr connlete binary tree?
6.  Lisl the applicatizr@ Hf binary tree.
7.  Which methévis called partition exchange sort?
8.  Give the prusiple of diminishing increment gort,
9. Listthy application of Graphs.

10. What are the advantages of adjacency matrix representation of graph?




11. [(a)
(b}
12. ()
{b)
13. (a)
(b}

PART B — (6 x 16 = 80 murks)

An automobile company uses an array, items to gtore the number of
automobiles sold each year sturting from 1983 Lu 1997, Write a
C program for each of the following tasks :

(i) To find the total sales for all the itema, (8]
{(ii) To print the years in which maximum items were anld. (5
(iii} To print the years in which minimum items were sold. (51
Or
{iy  Write a program to compute fibonacci numbers. (8)
(it} Write an iteralive rouline Lo implement Tower of{{anvi problem,
(10}
Cunverl euch of the following inlix vxpression lo pretlix expression,
1 X-Y+2Z (4)
m (X YINZ -W) (4)
() X+Y/Z+W (4)
fiy) X -{¥-(Z-W). {1)

O

1) Tllustrate the principlz ol array implementation of list und explain

the limitation of thiswapproach. {8)
(i) Comparc the dyni mic and array implementation of lisc. (8)

Construct a binary uwmee 1or the given preorder and inorder requences as
below "

Preorder: b e & [ § d g (8)

Inorder : Die fjbygd (8)
Or

{1} Iuatrats the threaded binary tree with specilic example. (8)

@11 Compare the threaded binary tree with vrdinury binary tree. (8)
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14, ial

th)

15, (a)

1=}

Explain why the slraighl selection sort is more efficiant than the hubhle
sorl, Analyzs Lhis lor the piven numbers : (1

20 67 48 37 12 92 B6 G2

Or
(ib  What are the advantages and disadvantages of the scquendinl
azarch algorithm, (B}
(i) What are the main advantages of indexed sequenlial sewreh over
pequential search? (B}

Explain beiefly the lollowing ilems

{iy  Diagraph. (4}

{il] Adjacency list. [}

{in} Traveraal of graph. (d}

{iv) G representation of graph. (d}
Or

Tilustrate the graph for the following :
(i (1) Tree edges.

(2" Forward cdges,

(3} Cross edgos.

(4} DBack edges. 1=}

{il) Hlustrete the principls o/ Depth firat traversal with specihe
example. (&)
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